8 HILES

(1) B S X s

® 1HRAMKyZ

< HERHIEE XA R >

<BM>
~29 | 30~39 | 40~49 | 50~59 | 60~69 | T0~79 | 80~ (R R
(N) (%)
A 8 670 | 1,645 | 1,608 555 117 2| 4,605 | 75.2
B1 0 39 130 194 66 9 0 438 7.2
B2 2 59 249 424 193 54 0 981 | 16.0
C 0 0 0 0 0 0 0 0 0.0
D 0 4 21 40 23 8 0 96 1.6
E 0 0 0 0 0 0 0 0 0.0
B (N) 10 772 2,045 | 2,266 837 188 2| 6,120 | 100.0
ARTRAES (N) 2 102 400 658 282 71 0| 1,515| 24.8
HETRAEE (%) | 20.0| 13.2| 19.6| 29.0| 33.7| 37.8 0.0 24.8
<ZtE>
~29 | 30~39 | 40~49 | 50~59 | 60~69 | T0~79 | 80~ k| e
(N) (%)
A 14 440 934 910 321 44 0| 2,663| 68.7
B1 0 50 177 162 66 5 0 460 | 11.9
B2 0 59 229 304 110 19 0 721 | 18.6
C 0 0 0 1 0 0 0 1 0.0
D 0 0 11 13 7 3 0 34 0.9
E 0 0 0 0 0 0 0 0| 0.00
B (N) 14 549 | 1,351 | 1,390 504 71 0| 3,879 | 100.0
ARTRAES (N) 0 109 417 480 183 27 0| 1,216 31.3
BHTRAE (%) 0.0 19.9| 30.9| 34.5| 36.3| 38.0 0.0 31.3




< EERTHAEAE X R AR U — B

< B>
~29 | 30~39 | 40~49 | 50~59 | 60~69 | T0~T79 | 80~ (Y
HERL 8 670 | 1,645 | 1,608 555 117 2 4, 605
S AMH 0 17 44 56 27 3 0 147
HARY— 0 38 159 213 65 10 0 485
B BN 22 0 0 1 3 1 0 0 5
B85 0 0 0 2 0 0 2
BRI IR 0 0 5 12 5 3 0 25
BRI T E 0 3 8 12 6 1 0 30
A P mﬁ/ﬁ 0 3 8 11 7 4 0 33
1E 2 32 148 273 129 40 0 624
+= hﬂ%{%f;’? 0 1 3 1 0 0 0 5
+ MR 0 10 26 55 22 5 0 118
BIERY —F 0 0 0 0 0 0 0 0
RIEFIRE 0 0 0 0 0 0 0 0
BBl 5 SIEREAN 0 0 6 7 2 3 0 18
e 10 772 2,045 | 2,266 837 188 2 6, 120
<EME>
~29 | 30~39 | 40~49 | 50~59 | 60~69 | 70~T79 | 80~ (Y
HERL 14 440 934 910 321 44 0 2, 663
O AMEE % 0 5 18 22 18 3 0 66
HRY—7 0 87 291 285 79 9 0 751
B BN 22 0 0 1 1 1 1 0 4
B85 0 0 0 0 0 0 0 0
BRI RIR 0 0 1 3 4 0 0 8
BRI T E 0 3 8 10 3 0 0 24
B kA 0 1 6 4 9 0 0 20
TE I 0 11 78 128 73 16 0 306
+ AR 0 0 0 0 0 0 0 0
+ MR 0 2 8 19 8 0 0 37
BIERY —F 0 0 0 0 0 0 0 0
RIEFIRE 0 0 0 0 0 0 0 0
BBl 5 SETEAN 0 0 0 0 0 0 0 0
E 14 549 | 1351 | 1390 504 71 0 3, 879




@ 2HAMRyZ

< EERTEAAE XA HIERE R >

<F>
~29 | 30~39 | 40~49 | 50~59 | 60~69 | 70~79 | 80~ s L
(N) (%)
A 0 3 8 16 6 0 0 33| 67.3
B1 0 0 3 4 3 1 0 11| 22.4
B2 0 0 0 3 1 1 0 5| 10.2
C 0 0 0 0 0 0 0 0 0.0
D 0 0 0 0 0 0 0 0 0.0
E 0 0 0 0 0 0 0 0 0.0
Ea =< SON) 0 3 11 23 10 2 0 49 | 100.0
ARTRAE (N) 0 0 3 7 4 2 0 16| 32.7
APTRAER (%) 0.0 0.0| 27.3| 30.4| 40.0| 100.0 0.0 32.7
<EME>
~29 | 30~39 | 40~49 | 50~59 | 60~69 | T0~T79 | 80~ k|
(N) (%)
A 0 0 5 0 5 1 0 11| 73.3
B1 0 0 0 2 2 0 0 41 26.7
B2 0 0 0 0 0 0 0 0 0.0
C 0 0 0 0 0 0 0 0 0.0
D 0 0 0 0 0 0 0 0 0.0
E 0 0 0 0 0 0 0 0 0.0
Ea =< SON) 0 0 5 2 7 1 0 15| 100.0
ARTRAE (N) 0 0 0 2 2 0 0 41 26.7
BRTRAEE (%) 0.0 0.0 0.0 100.0| 28.6 0.0 0.0 26.7




< EERVHALE X AR AR R —
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©  E[ERRE R RR AT BN TR

< EERTHAEAE XA HIEREAR >

<FME>
~29 | 30~39 | 40~49 | 50~59 | 60~69 | T0~79 | 80~ fak | e
ON) (%)
A 0| 1,265 | 1,838 1,232 701 44 0| 5080 | 71.2
B1 0 97 218 218 144 7 0 684 9.6
B2 0 142 325 304 292 18 0| 1,081 | 15.1
C 0 0 0 0 0 0 0 0 0.0
D 0 34 68 97 88 5 0 292 4.1
E 0 0 0 0 0 0 0 0 0.0
S EHE (N 0| 1,538| 2,449 | 1,851 1,225 74 0| 7,137 | 100.0
APTRAES (N) 0 273 611 619 524 30 0| 2,057 | 28.8
APTRAER (%) 0.0 17.8| 24.9| 33.4| 42.8| 40.5 0.0 28.8
<>
~29 | 30~39 | 40~49 | 50~59 | 60~69 | 70~79 | 80~ (i L
(N) (%)
A 0 551 867 604 248 6 0| 2,276 | 66.9
B1 0 89 215 184 55 1 0 544 | 16.0
B2 0 73 205 162 62 1 0 503 | 14.8
C 0 0 0 0 0 0 0 0 0.0
D 0 11 15 35 18 1 0 80 2.4
E 0 0 0 0 0 0 0 0 0.0
B (N) 0 724 | 1,302 985 383 9 0| 3,403 | 100.0
AprRAES (N) 0 173 435 381 135 3 0 1,127 33.1
APTRAER (%) 0.0 23.9| 33.4| 387| 35.2| 333 0.0 33.1




< EHHAEE X SRR R >

<FM>

~29 | 30~39 | 40~49 | 50~59 | 60~69 | T0~T79 | 80~ | #Ff
HERL 0| 1,265| 1,838 1,232 701 44 0| 5,080
=y vk 0 0 3 7 5 1 0 16
Y 7 BBE 0 0 8 8 11 1 0 28
H AL 0 0 2 5 3 0 0 10
B A 0 78 183 153 105 6 0 525
B BN 22 0 5 3 6 10 0 0 24
PIICIEZYN 0 0 0 1 1 0 0 2
R 0 16 27 25 23 1 0 92
HEREERLR 0 2 0 7 2 0 0 11
£ (H) 0 1 2 0 1 1 0 5
WRAEE 0 0 5 3 2 1 0 11
+ IR AT 0 13 33 23 33 2 0 104
BEH~ V=T 0 1 3 3 8 0 0 15
it 0| 1,538 | 2,449 | 1,851 | 1225 74 0| 7,137
<EME>

~29 | 30~39 | 40~49 | 50~59 | 60~69 | T0~T79 | 80~ | #Ef
HERL 0 551 867 604 248 6 0] 2,276
=y vk 0 1 1 0 0 0 0 2
AVIVEN: 3 0 0 1 5 2 0 0 8
B AL 0 0 0 1 0 0 0 1
B A 0 110 276 197 61 0 0 644
B BN 22 0 1 0 0 0 0 0 1
PIICIEZYN 0 0 0 0 0 0 0 0
R 0 2 2 6 5 0 0 15
AEREDRELR 0 0 0 1 0 0 0 1
£ (H) 0 0 0 1 0 0 0 1
R AEE 0 0 0 0 1 0 0 1
+ AR AT 0 1 6 12 4 0 0 23
BEH~ V=T 0 0 0 2 0 0 0 2
it 0 724 | 1,302 985 383 9 0| 3,403




@ M2

1) EEEREY

< EERTEAAE X R >

<BM>
~29 | 30~39 | 40~49 | 50~59 | 60~69 | T0~79 | 80~ k| e
(N) (%)
A 20 206 370 224 66 12 0 898 | 73.1
B1 2 16 47 38 10 2 0 115 9.4
B2 3 18 62 49 43 6 0 181 | 14.7
C 0 0 0 0 0 0 0 0 0.0
D 1 5 13 7 8 0 0 34 2.8
E 0 0 0 0 0 0 0 0 0.0
st (N) 26 245 492 318 127 20 0| 1,228| 100.0
AptRAES (N) 6 39 122 94 61 8 0 330 | 26.9
AETRAESE (%) | 23.1| 15.9| 24.8| 29.6| 48.0| 40.0 0.0 26.9
<>
~29 | 30~39 | 40~49 | 50~59 | 60~69 | T0~T79 | 80~ (R R
(N) (%)
A 25 146 280 193 36 3 0 683 | 62.1
B1 1 25 75 40 12 0 0 153 | 13.9
B2 1 24 85 93 20 1 0 224 | 20.4
C 0 0 0 0 0 0 0 0 0.0
D 0 6 10 17 7 0 0 40 3.6
E 0 0 0 0 0 0 0 0 0.0
B (N) 27 201 450 343 75 4 0| 1,100 | 100.0
APTRAES (N) 2 55 170 150 39 1 0 417 37.9
AETRAER (%) 7.4 27.4| 37.8| 43.7| 52.0| 250 0.0 37.9




< EHHAEE X SRR R >

<FM>

~29 | 30~39 | 40~49 | 50~59 | 60~69 | T0~T79 | 80~ | #Ff
HERL 20 206 370 224 66 12 0 898
=y vk 0 0 0 0 0 0 0 0
Y 7 BBE 0 0 2 0 0 0 0 2
H AL 0 0 0 0 0 0 0 0
B A 1 15 40 24 10 1 0 91
B BN 22 0 2 2 0 2 0 0 6
PIICIEZYN 0 0 0 0 0 0 0 0
R 1 0 5 2 4 0 0 12
HEREERLR 0 0 0 2 0 0 0 2
£ (H) 0 0 0 1 0 0 0 1
WRAEE 0 0 1 2 1 0 0 4
+ IR AT 0 1 4 7 4 0 0 16
BEH~ V=T 0 0 1 4 2 2 0 9
it 26 245 492 318 127 20 0| 1,228
<EME>

~29 | 30~39 | 40~49 | 50~59 | 60~69 | T0~T79 | 80~ | #Ef
HERL 25 146 280 193 36 3 0 683
=y vk 0 0 0 0 0 0 0 0
AVIVEN: 3 0 0 0 0 1 0 0 1
B AL 0 0 0 0 0 0 0 0
B A 1 38 111 66 13 0 0 229
B BN 22 0 0 0 1 1 0 0 2
PIICIEZYN 0 0 0 0 0 0 0 0
R 0 0 2 4 0 0 0 6
AEREDRELR 0 0 0 0 0 0 0 0
£ (H) 0 0 0 0 0 0 0 0
R AEE 0 0 0 0 0 0 0 0
+ AR AT 0 0 2 5 2 0 0 9
BEH~ V=T 0 0 1 0 0 0 0 1
it 27 201 450 343 75 4 0| 1,100




2) ifEziTe2

<D X AR R R >

<FME>
~29 | 30~39 | 40~49 | 50~59 | 60~69 | T0~79 | 80~ fak | e
ON) (%)
A 15 652 | 1,195 | 1,274 | 1,363 717 5| 5,221 73.2
B1 2 116 276 336 544 317 2| 1,593 22.3
B2 0 0 0 0 1 0 0 1 0.0
C 0 0 0 0 0 0 0 0| 0.00
D 0 13 44 67 115 80 0 319 4.5
E 0 0 0 0 0 0 0 0 0.0
S EHE (N 17 781| 1,515| 1,677| 2,023 | 1,114 7| 7,134 | 100.0
APTRAES (N) 2 129 320 403 660 397 2| 1,913| 26.8
APTRAER (%) 11.8| 16.5| 21.1| 24.0| 32.6| 35.6| 28.6| 26.8
<>
~29 | 30~39 | 40~49 | 50~59 | 60~69 | 70~79 | 80~ (i L
(N) (%)
A 3 311 496 532 938 500 2| 2,782 | 67.7
B1 0 62 192 273 426 236 1| 1,190 | 29.0
B2 0 0 0 1 1 0 0 2 0.05
C 0 0 0 0 0 0 0 0 0.0
D 0 8 12 30 46 38 0 134 3.3
E 0 0 0 0 0 0 0 0 0.0
B (N) 3 381 700 836 | 1411 774 3| 4,108 | 100.0
APTRAES (N) 0 70 204 304 473 274 1] 1,326] 32.3
APTRAER (%) 0.0 18.4| 29.1| 36.4| 33.5| 354| 33.3| 323




< HE X AR BRI >

<FM>
~29 | 30~39 | 40~49 | 50~59 | 60~69 | T0~T79 | 80~ | #Ff

HERL 15 652 | 1,195 | 1,274 | 1,363 717 5| 5,221
=y vk 0 0 3 3 8 3 0 17
Y 7 BBE 0 3 11 10 22 8 0 54
H AL 0 2 2 4 6 5 0 19
B A 1 40 133 122 132 68 0 496
B BN 22 0 0 1 2 4 1 0 8
PIICIEZYN 0 0 0 1 3 0 0 4
R 0 4 6 13 35 13 0 71
HEREERLR 0 0 5 9 18 9 0 41
% () 0 0 1 5 4 3 0 13
WRAEE 0 0 2 2 6 5 0 15
+ IR AT 0 5 14 22 33 16 1 91
BEH~ V=T 1 0 1 0 6 13 0 21
it 17 781 | 1,515 | 1,677 | 2,023 | 1,114 7| 7,134

<EME>
~29 | 30~39 | 40~49 | 50~59 | 60~69 | T0~T79 | 80~ | #Ef
HERL 3 311 496 532 938 500 2| 2,782
=y vk 0 1 0 0 0 0 0 1
AVIVEN: 3 0 2 5 9 3 5 0 24
B AL 0 0 0 1 2 0 0 3
B A 0 51 140 151 181 96 1 620
B BN 22 0 0 0 1 2 3 0 6
PIICIEZYN 0 0 0 1 0 0 0 1
R 0 0 0 3 5 3 0 11
AEREDRELR 0 0 0 1 3 3 0 7
£ (H) 0 0 0 1 3 0 0 4
R AEE 0 0 1 0 2 3 0 6
+ AR AT 0 1 4 13 23 13 0 54
BEH~ V=T 0 0 0 1 4 5 0 10
it 3 381 700 836 | 1411 774 3| 4,108




